Economics 101
Fall 2000
Practice Questions #6

God:
Review basic concepts Margind Physica Product, Margind Revenue Product, Margina Labor
cost.
Learn how to use demand and supply curves to determine the equilibrium wage and employment
in acompetitive labor market.
Undergand the impact of Minimum Wage Law, and how income and subgtitution effects
influence the supply curve of labor.

1. Tony runs a smal company, Bearpaw Boots, that manufactures hiking boots. Table 1 shows
output per month for different quantities of labor.

a. Fll inthe third column by usng the data in the second column to compute the margind physica
product of each additiona worker.

b. Tony can sdl boots for $60 a pair. As Tony has a smdl firm, the price of boots is unaffected by
the quantity that he sdlls. Fill in the fourth column by computing the margina revenue products of
each worker.

c. Assume Tony sdiIs his product in a perfectly competitive market and hires in a perfectly
competitive labor market. How many workers will Tony employ if monthly wages are $1800?

d. What will be Tony's profits given his hiring decison in (c)?

Table1
Number of Total Number of Pairsof | Margina Physica Margina Revenue
Bootmakers Boots per Month Product (Boots) Product ($)
1 60
115
165
210
250
285
315
340
360
10 375

© |00 |N |0 |01 | |Ww N




2. Rl inthefallowing blanks.

In a comptitive labor market, (2 and (2)__ will be determined by the interaction
of the demand and the supply of labor curves. The supply of Iabor comes from individua decisons
to work. Individua decisons to supply work are smultaneoudly decisons to forgo leisure. Thus, a
decison to supply less labor is Smultaneoudy a decison to demand more _ (3)__ . At higher
wages, the same number d working hours will mean a larger income. If leisure is not an inferior
good, people are gpt to demand _ (4) _ (morefless) leisure as their income increases. This
suggests that the supply of labor might ~ (5)  (increase/decrease) as wages increase. Thisis
cdled _ (6) _ (income/subdtitution) effect of higher wages.

Higher wages a so increase the opportunity cost of an hour of leisure. As a result we expect that as
wages increase, the substitution effect will lead people to work _ (7)__ (morefless). The ultimate
effect of increased wages comes from the sum of the income and subdtitution effects. Statistical

evidence suggests that a low wagesthe _ (8)  effect predominates and labor supply _ (9)__
with an increase in wages, while a high wages the two effectstend to _ (10) _ (enhance/offset)
each other.

In some cases, the market determination of wages and employment is affected by a legd floor on

wages rates, or a__ (11)  rate. To be effective, the minimum wage must be ~ (12)
(higher/lower) than the market wage. Imposing a minimum wage will _ (13)__ (increase/decrease)
the volume of employment as firms move upward and to the left dong their demand curves for [abor.
At the same time the promise of higher wages is gpt to increase the __ (14) _ (demand/supply) of

labor. Minimum wage laws affect primarily _ (15)  (skilled/unskilled) labor markets. A mgor

noncompetitive feature in many skilled labor marketsisthe exigtenceof labor _—~~ (16) .

3. Suppose that the marginal revenue product schedule or demand for labor for one of 100 identica
and perfectly competitive firms is given by column (1) and (2) of table 3, and the market supply
schedule of labor is given by columns (1) and (3).

a.  Find the market demand schedule for labor and the equilibrium wage rate.
b. How much labor should the firm hire to maximize itstotd profits?
c. Graph theresultsto part (a) and (b).



4. The fallowing figure illustrates the short run labor supply and demand curves for a competitive

Table 3

(1) Wage Rate (%) (2) Quantity of Labor (3) Total Quantity of
Demanded by one firm Labor Supplied ($)
12 40 12,000
10 60 10,000
8 80 8,000
6 100 6,000
4 120 4,000

firm. Use the information to answer the following true/false questions.
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Thefirm immediately encounters diminishing margina returns upon hiring the first units of labor.
Thefirm hires |abor in a perfectly competitive labor market.
Thefirm can influence the price of labor.

Thefirm will hire Ly units of labor per time period.

L abor recelves an amount of income equd to the area of rectangle OW, bl




